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A LEVEL ECONOMICS UNIT 4

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 (a) 163 6.5 2.5 10 65.2 37.9

1 (b) 164 12.2 3.8 20 60.8 38.1

2 (a) 266 7.2 2.1 10 72 61.9

2 (b) 266 11.8 4.6 20 59 61.9

3 (a) 217 6.3 3.1 10 62.9 50.5

3 (b) 219 12.8 4.2 20 64 50.9

4 (a) 210 5 2.5 10 49.9 48.8

4 (b) 211 12.3 3.5 20 61.5 49.1

5 (a) 113 3.3 3.2 10 32.9 26.3

5 (b) 113 9.8 5.5 20 49.2 26.3

6 (a) 311 5.9 2.9 10 59.4 72.3

6 (b) 313 13.3 4 20 66.5 72.8
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A LEVEL ECONOMICS UNIT 4

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q1a Explain what is meant by a contestable market and, using a diagram, explain 
why firms in a contestable market tend to earn only normal profit.      [10]


Band AO1 AO3 


6 marks 4 marks 


3 5 – 6 marks 
 
Excellent understanding of what is 
meant by a contestable market. 
 
Excellent, accurate and comprehensive 
diagram illustrating why firms in 
contestable markets operate at the 
normal profit level of output. 
 
Excellent use of relevant terminology 
such as contestability, barriers to 
entry/exit, sunk costs, normal profit, limit 
pricing. 


 


2 3 – 4 marks 
 
Good understanding of what is meant by 
a contestable market. 
 
Understanding of the reason why firms in 
a contestable market operate at normal 
profit. 
 
A relevant diagram is drawn, with errors 
or omissions. 


3 – 4 marks 
 


An accurate and comprehensive 
analysis of both the nature of a 
contestable market, and the reasons 
why firms in a contestable market 
operate at the normal profit level of 
output. 
 
At the top of this band, candidates will be 
able to analyse their diagram 
dynamically rather than statically. 


1 1 – 2 marks 
 


Some recognition of what is meant by 
contestability and normal profit. 
 
A diagram may be attempted, but with 
significant errors or omissions. 


 


1 – 2 marks 
 


Limited analysis of the nature of a 
contestable market. 
 
Limited analysis of the reasons why a 
firm in a contestable market operate at 
the normal profit point. 


0 0 marks 
 


No valid diagram. 
 
No understanding of contestability or 
normal profit. 


0 marks 
 


No valid analysis 


 


  







 


Indicative content:  
 
Understanding of contestability: 


 A market structure in which the number of firms is irrelevant in determining the 
behaviour of firms (unlike, say, monopoly or oligopoly) 


 There is potential for competition, or a ‘threat’ of competition 
 Barriers to entry and exit are low, and particularly there are no sunk costs – this 


allows ‘hit and run’ competition to occur 
 
Likely diagram: 
 


 


 


 


 


 


 


 


 


 


 
n.b. the best candidates will use their diagram to illustrate the abnormal profit earned at any 
output level less than Q, and hence why operating at Q is the only output level at which new 
firms won’t be attracted. Operating beyond output level Q results in a loss being made, 
which would cause the firm to leave the industry (due to lack of barriers to exit). 
 
Candidates may also choose to use a perfect competition diagram to illustrate the 
dynamic process by which supernormal profit in the short-run is appropriated away by the 
entry of new firms in the long run. This is acceptable, provided candidates make it clear that 
the key reason for the earning of normal profit is the lack of entry / exit barriers. 
 
Why firms in a contestable market tend to earn normal profit: 


Because of the ease with which new entrants to the market can join the market due 
to the lack of entry barrier, one of the only ways that incumbent firms can prevent 
new firms from joining is to use limit pricing i.e. pricing as low as they can without 
making a loss, at the level of output where AR = AC i.e. normal profit. There are then 
fewer incentives for new entrants to join that market as there is no abnormal profit to 
appropriate. Incumbent firms can afford to operate at normal profit because of the 
lack of sunk costs – they do not need to contribute towards huge fixed costs. 


C = P 


Q 


Costs / 
Revenue 


Output 


AC 


MC 


AR 


MR 
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Sticky Note

There is little in this answer to suggest that the candidate understands what is meant by a contestable market – there is some hint that the candidate understands perfect competition e.g. references to a lack of market power, but this is not the question. There are also significant contradictions, for example, firms competing by lowering prices but then followed by a statement that firms are price-takers. AO1 1 mark, AO3 1 mark. Total mark 2/10. 
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Sticky Note

The candidate shows some understanding of contestability in their opening sentence, and in their second paragraph shows an understanding of normal profit, helping to support AO1 marks. The first diagram appears to have no supporting analysis and it is unclear as to why it is included. The dynamic explanation, supported by diagrams, of how the lack of entry barriers means that supernormal profits are eroded is mostly accurate. However, the candidate misses the key point with contestability, which is that new firms do not need to enter the market for profits to approach normal -it is merely the threat of competition that is key. AO1 = 5/6. AO3 = 3/4. Total 8/10.
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Sticky Note

The first observation for this candidate is that they have written far too much for a 10 mark question. The opening sentence shows a good understanding of contestability, as it recognises that it is more than simply perfect competition. This is followed by a good understanding of entry barriers. The diagrammatic analysis focuses on perfect competition; the subsequent written analysis is a little repetitive, and does not quite show a full understanding of broader contestability. AO1 = 4/6. AO3 = 3/4. Total marks 7/10.
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(1520U40-1)


SECTION A


Answer one question from this section.


Either,


1.	 (a) 	 Explain what is meant by a contestable market and, using a diagram, explain why firms in 
a contestable market tend to earn only normal profit.  	 [10]


	 (b)	 Discuss the view that firms in an oligopoly must always be heavily regulated in order to 
prevent collusion.	 [20]


Or,


2.	 (a)	 Explain what is meant by monopoly and, using a diagram, explain why a monopoly may 
have lower average costs of production than a firm in perfect competition. 	 [10]


	 (b) 	 “Concentrated markets are always better for the economy than non-concentrated 
markets.” Discuss.	 [20]
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Q3 b Discuss the likely effectiveness of policies, other than the use of interest 
rates, to reduce the rate of inflation in an economy.   [20]


Band AO1 AO3 AO4 


6 marks 6 marks 8 marks 


3 5 – 6 marks 
 


Excellent understanding of the 
need to reduce the rate of 
inflation. Excellent 
understanding of at least two 
policies that can be used to 
reduce the rate of inflation 
 
There is broad and deep 
coverage of the factors that are 
relevant with no significant 
omissions 


5 – 6 marks 
 


An excellent, detailed analysis 
of how at least two policies 
can be used to reduce the rate 
of inflation in an economy. 
 
Diagrams, where used as part 
of the analysis, are well 
integrated and accurate. 
 
A well-developed argument is 
formed. 


6 – 8 marks 
 


An excellent critical evaluation 
of at least two policies. 
 
Clear judgements are made with 
supporting statements to build 
an argument. 
 
Very top band responses will 
consider the effectiveness of 
policies in light of different 
economic contexts, causes of 
inflation, and from different 
perspectives. 


2 3 – 4 marks 
 


Good understanding of at least 
two policies that can be used to 
reduce the rate of inflation. 
 
Answers in this band may omit 
significant content or the 
breadth of coverage is good but 
the depth of understanding is 
not sufficient to reach the 
highest band 


3 – 4 marks 
 


A good analysis of how at 
least two policies can be used 
to reduce the rate of inflation 
in an economy. 
 
Answers in this band show 
developed chains of argument 
with a sensible grasp of how 
inflation can be reduced. 
 
Answers in this band may lack 
depth at times, and any 
diagrams that are used may 
not always be well-integrated 
or completely correct, or key 
points are missing 


3 – 5 marks 
 


A good evaluation that includes 
most of the key issues 
 
At least 2 policies are evaluated 
in terms of their effectiveness in 
reducing inflation. 
 
Candidates in this band may 
superficially consider the 
effectiveness of the policies 
selected in light of different 
causes of inflation or in different 
economic contexts/countries. 


 


1 1 – 2 marks 
 


Identification of, and some 
limited understanding, of one or 
more policies that can be used 
to reduce inflation 
 
Some limited understanding of 
inflation. 
 


1 – 2 marks 
 


Limited analysis of one or 
more policies that can be used 
to reduce inflation. 
 
Answer tends to lack key 
economic concepts and avoid 
technical analysis. 


1 – 2 marks 
 


Limited evaluation of one policy, 
or very superficial evaluation of 
more than one policy. 
 
A very one-sided answer. 


 


0 0 marks 
 


No knowledge or understanding 
present 


0 marks 
 


No relevant analysis 


0 marks 
 


No relevant evaluation 


 


  







 


Indicative content: 
 
Key concepts: 


‐ Inflation – a sustained increased in the general level of prices in an economy 
‐ Candidates may possibly refer to the inflation target, or the fact that the use of 


interest rates (as part of monetary policy) has been the default policy in reducing 
inflation in many developed economies for some years 


‐ Some candidates may briefly consider the harmful consequences of inflation and 
thus its need to be prevented, but this should not be over-rewarded 


 
Alternative policies (as referred to in the specification) – candidates should consider at 
least two policies: 


‐ Monetary policy options: reversing QE / reducing the money supply, reducing 
inflationary expectations / lowering the inflation target, active intervention in the Forex 
market to reduce the value of the currency 


o But: reversing QE will impact on the fiscal balance; the inflation target is 
already quite low at 2%; intervention in the Forex market is unlikely 


‐ Fiscal policy options: any deflationary / contractionary policy such as reducing 
government spending and raising the rates of direct tax 


o But: this runs counter to current UK fiscal policy with a relaxation of austerity 
measures 


‐ Supply side policies: any policies that increase LRAS / increase the productive 
capacity of the economy; candidates could consider interventionist approaches (e.g. 
tax credits) and/or free-market approaches (e.g. deregulation) n.b. do not reward 
the use of lower interest rates to stimulate LRAS via investment 


o But: interventionists approaches may be costly; some SSP’s work more 
quickly than others 


‐ Direct controls on wages and prices: use of pay freezes (e.g. public sector) and/or 
salary caps (e.g. banker bonus caps, limiting the pay of the highest paid in an 
organisation to a certain multiple of the lowest paid), maximum prices (e.g. on 
essential items such as food and fuel in some LEDCs), “prices and incomes policies” 


o But: more likely to be used by a Labour/left wing government therefore 
unlikely at the moment; can lead to “stop go” cycles 


 
It is anticipated that many candidates will use a diagram in their answer to show either 
decreasing AD or increasing AS (short run or long run or both) 
 
Key evaluative issues, in addition to policy-specific evalution 


‐ Different policies may be needed depending on the cause of inflation e.g. inflation 
due to short run growth in AD may need demand-management policies, whereas 
inflation due to supply side constraints may need supply side policies 


‐ Inflation may be caused by exogenous rather than endogenous shocks, thereby 
requiring different policy solutions 


‐ The effectiveness of policies may depend on other macro policies currently being 
deployed or other issues in an economy that need addressing 


‐ The effectiveness of policies may depend on the economic context e.g. no use 
suggesting a currency appreciation if the economy operates a freely floating 
exchange rate system 
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A01-5
A03-6
A04-7



Sticky Note

The candidate covers the two most popular policies chosen by candidates who answered this question – deflationary fiscal policy and supply side policies. With respect to deflationary fiscal policy, the candidate is specific about the nature of that policy i.e. raising income tax, and which elements are most likely to have the best effect (i.e. it is better to keep corporation tax the same to avoid cost-push inflation). The attempt at evaluation for deflationary fiscal policy towards the bottom of the first page is not awarded much in terms of AO4 marks, because it is not focused on the effectiveness of the policy in reducing inflation, rather it considers other unpalatable side-effects. Whilst these are correct, they are not really relevant in answering this question. However, the candidate does then move on to considering the circumstances in which such a policy might be effective. The discussion of supply-side policies is fairly detailed e.g. reference to HS2, spending on apprenticeships, supporting R&D etc, and carefully explains how these policies might lower costs of production, rather than merely stating that LRAS shifts right. Furthermore, the evaluation is focused on their effectiveness in reducing inflation, rather than merely a list of possible pitfalls. This answer is awarded 5/6 for AO1, 6/6 for AO3 and 7/8 for AO4, giving a total of 18/20.
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Sticky Note

as was typical for this question, the candidate considers deflationary fiscal policy (just corporation tax) and supply-side policies (just “education schemes”). The analysis is just enough to push into Band 2, but is mostly reliant on using diagrams to show shifts in AD / LRAS and the impact on the general price level in those diagrams, rather than showing an understanding of exactly how the general price level falls in each case. The evaluation points consider general repercussions of each policy, rather than their effectiveness in reducing inflation. This answer is awarded 4 for AO1, 3 for AO3 and 3 for AO4, giving a total of 10/20.
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Sticky Note

This candidate considers the two most commonly chosen policies (contractionary fiscal policy and supply side policies) but also then considers tightening rules on bank lending, which helps to push the AO1 marks higher because of the use of concepts that are more likely to be met in the 2nd year of economics study. The analysis on contractionary fiscal policy via falling government spending is accurate but not particularly well developed – the process by which the general price level falls / inflation falls is not necessarily fully understood outside of the basic AD/AS diagrammatic framework. However, the evaluation of this policy does attempt to consider the effectiveness of it in terms of reducing inflation. Again, the commentary on supply-side policies is accurate but does not go much beyond as AS-standard analysis; the evaluation is limited and only considers generic time lags. The consideration of bank lending is a little more developed. The conclusion adds little in the way of a clear / interesting judgement. This answer is awarded 5 for AO1, 4 for AO3, and 5 for AO4, giving a total mark of 14/20.













(1520U40-1) Turn over.
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SECTION B


Answer one question from this section.


Either,


3. (a) 	 Using an appropriate diagram, explain the process by which Neo-classical economists
believe that the economy will always adjust to reach long-run equilibrium.	 [10]


	 (b)	 Discuss the likely effectiveness of policies, other than the use of interest rates, to reduce 
the rate of inflation in an economy.	 [20]


Or,


4.	 (a)	 Using an appropriate diagram, explain why Keynesian economists believe that government 
intervention is often essential for decreasing cyclical unemployment.	 [10]


(b) Assess the extent to which a fall in unemployment is always desirable. [20]


© WJEC CBAC Ltd.
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Q6 b Discuss the extent to which governments of all LEDCs should encourage inward 
foreign direct investment (FDI). [20]


Band AO1 AO3 AO4 


6 marks 6 marks 8 marks 


3 5 – 6 marks 
 


Excellent understanding of the 
meaning and nature of inwards 
FDI and development, and 
excellent understanding of the 
main reasons why LEDC 
governments might want to 
encourage inwards FDI. 
 
Answers in this band may include 
a number of relevant examples of 
a broad range of FDI types 


5 – 6 marks 
 


An excellent analysis of the 
reasons why governments of 
LEDCs should encourage inwards 
FDI 
 
A well-developed argument is 
made that supports (or negates) 
the view in the question. 
 
At the top of this band, it is likely 
that candidates will fully analyse 3 
or 4 reasons why governments of 
LEDCs should encourage inwards 
FDI. 


6 – 8 marks 
 


An excellent critical evaluation of 
the reasons why governments of 
LEDCs may want to encourage 
FDI 
 
Clear judgements are made with 
supporting statements to build an 
argument. 
 
Very top band responses will 
likely refer to specific examples to 
support/refute key points, and 
consider the discriminator word all 
LEDCs, and consider FDI as a 
whole rather than simply MNC 
activity. 


2 3 – 4 marks 
 


Good understanding of the 
meaning and nature of inwards 
FDI and development, and good 
understanding of the main 
reasons why LEDC governments 
might want to encourage inwards 
FDI 
 
Answers in this band may omit 
significant content or the breadth 
of coverage is good but the depth 
of understanding is not sufficient 
to reach the highest band. For 
example, answers may focus 
mainly on MNC activity. 
 
Answers in this band are likely to 
include a small number of 
relevant examples. 


3 – 4 marks 
 


A good analysis of the reasons 
why governments in LEDCs might 
want to increase inwards FDI.  
 
Answers in this band show 
developed chains of argument 
with a sensible grasp of the 
issues facing LEDCs. 
 
Answers in this band may lack 
depth, diagrams may not always 
be well-integrated or completely 
correct, or key points are missing. 


3 – 5 marks 
 


A good evaluation that includes 
most of the key issues, including 
an awareness that each LEDC is 
different and therefore that the 
impact of FDI may be different, 
and that FDI can take different 
forms. 
 
At least 2 points are evaluated 
with a clear discussion. 


 


1 1 – 2 marks 
 


Limited understanding of the 
meaning and nature of inwards 
FDI and development, and limited 
understanding of the main 
reasons why LEDC governments 
might want to encourage inwards 
FDI 
 
 
Minimal use of relevant economic 
vocabulary. 


1 – 2 marks 
 


Limited analysis of the reasons 
why governments in LEDCs may 
want to encourage inwards FDI. 
 
Answer tends to lack key 
economic concepts and avoid 
technical analysis. 


1 – 2 marks 
 


Limited evaluation 
 


0 0 marks 
No knowledge or understanding 
present of the nature of inwards 
FDI and its link with development. 


0 marks 
No relevant analysis of why 
governments of LEDCs may want 
to encourage inwards FDI 


0 marks 
No relevant evaluation of whether 
governments of LEDCs may want 
to encourage inwards FDI 


 







 


 


Indicative content: 


 
Understanding of the nature of an LEDC, what is meant by inwards FDI, and improvements 
in the level of development (i.e. an increase in living standards) 
 
Reasons why inwards FDI should be encouraged as a means of improving development: 


‐ FDI can increase / improve infrastructure (e.g. transport, communications, finance) 
which can increase productivity and lead to an increase in LRAS, thereby leading to 
more sustainable growth and an increase in employment 


‐ Can stimulate a multiplier effect / trickle-down effect 
‐ Knowledge transfer and capital transfer – may allow “leapfrogging” in terms of 


technology e.g. bypassing landlines for mobile phone infrastructure 
‐ External economies of scale / network effects 
‐ Some MNCs may bring their own workers / managers and require better quality 


healthcare, leading to improvements for locals too 
‐ FDI can plug the savings gap in LEDCs, leading to further investment (some 


candidates may consider, for example, the Harrod-Domar model of economic 
development) 


‐ There may be an increase in exports, causing a rise in AD 
‐ The government of the LEDC may be able to earn essential tax revenue that it 


cannot otherwise generate from its own low-paid citizens 
 


Reasons why inwards FDI should not be encouraged: 
‐ FDI may have been attracted by lax labour and environmental standards in the 


LEDC, which helps to keep production costs down for MNCs – this can lead to 
exploitation of labour and the environment, perhaps using commodities too quickly, 
generating negative externalities and so on. Similarly, property rights may be 
transgressed. 


‐ Profits may be repatriated and provide little in the way of tax revenue for the 
government or help fill the savings gap 


‐ Local labour may not be employed – production could be capital intensive, or firms 
may bring their own labour 


‐ Locals may be unable to afford the products being made, leading to social unrest etc 
‐ May be a resource curse effect / exchange rate appreciation 


 
Other issues for consideration: 


‐ The nature of the FDI – is there an impact on infrastructure / LRAS, or just AD, or 
whether local labour is used 


‐ Depends on whether it is portfolio investment (purchase of shares of LEDC 
companies – which may improve corporate oversight but could lead to short-termism) 
or actual physical investment 


‐ The relationship between the corporations investing and the host country government 
i.e. degree of transparency 


‐ The economic context in the LEDC – whether FDI is into one industry, or many, or 
the extent to which the trickle-down effect is likely to occur (which depends on factors 
such as labour market flexibility/education levels, transport infrastructure etc) 


‐ Inwards FDI means an inflow on the financial account of the BoP, and therefore 
needs to be balanced by an outflow elsewhere i.e. a current account deficit 
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Sticky Note

As with many answers to this question, the candidate initially conflates FDI with MNC activity, although later in the response considers long-term capital inflows which helps to support stronger AO1 marks than might initially have been the case. The candidate makes a number of sweeping statements relating to LEDCs, for example, “there is lots of income inequality in LEDCs due to corruption” which is unhelpful, and provides very few illustrative examples that could support their arguments. Most of the points made were, however, valid, but simply needed a little more depth. The answer is awarded 5/6 for AO1, 4/6 for AO3 and 5/8 for AO4, giving a total mark of 14/20.
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Sticky Note

This is a strong response. The candidate has an excellent understanding of what is meant by FDI in a broad sense. The analytical detail provided in relation to each of the benefits of FDI that are discussed is excellent, making strong use of technical terminology e.g. consideration of structural unemployment rather than merely unemployment, and good examples e.g. Nike. The response shows an excellent understanding of required economic theory, for example, consideration of the financial account on the Balance of Payments rather than merely the BoP as a whole, and a broad range of economic indicators (growth, employment, inequality etc). Very occasionally, the evaluation is a overly generic or includes sweeping statements e.g. “MNC’s large bargaining power means that they will give LEDC workers poor working conditions and lower pay”. The answer is awarded 6/6 for AO1, 6/6 for AO3 and 7/8 for AO4, leading to a total of 19/20.
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Sticky Note

This candidate’s answer starts by demonstrating an understanding of FDI that is broader than merely activities by MNCs. The answer is then well structured, taking a number of points (job creation, skill development, domestic industrialisation) which are analysed before being evaluated. The candidate considers the impact of FDI from the perspective of an LEDC rather than being overly generic – this is evidenced by the use of examples, although there could have been more in order to provide balance (i.e. examples that both support and evaluate the argument being made). The final conclusion provides some useful “depends on” phrases, recognising that the impact of FDI in LEDCs will be different in different contexts. This answer is awarded 5/6 for AO1, 5/6 for AO3 and 6/8 for AO4, putting it in the top band for response with a total mark of 16/20.
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SECTION C


Answer one question from this section.


Either,


5. (a) 	 Explain the factors that may result in an improving terms of trade index. [10]


	 (b)	 Evaluate the view that running a current account surplus is always better than running a 
current account deficit for LEDCs.	 [20]


Or,


6. (a)	 Explain how and why a “resource curse” may develop in an economy. [10]


(b) 	 Discuss the extent to which governments of all LEDCs should encourage inward foreign 
direct investment (FDI).	 [20]


END OF PAPER
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